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1 Zilla Parishad is established at which level of State administration?
(A) State secretariat (B) District
(C) Block level (D) Village level
(E) Question not attempted
fem ftwg & o o wemEs & fRE W 9T @ oI #7

(A) 9 ghaaea (B) fam w
(C) =i @Y (D) T WY
(E) ogaRa ued
2 Cyaniding and nitriding are two methods of
(A) hardening (B) case hardening
(C) tempering (D) normalising
(E) Question not attempted
qETERT Te R fre @ A Rttt ¥
(A) =R (B) %® wsf
(C) zwmfa (D) remEfsT
(E) srgara ued
3 Match Type of Drilling Machine in Column I with its specifications in Column II.
Column 1 Column I1
(Type of Drilling Machine) (Specifications of Drilling
Machine)
1. The pillar drilling a.  This machine is capable of drilling holes
machine up to 12.5 mm diameter. The drills are fitted

in the chuck or directly in the tapered hole
of the machine spindle.

2. The radial arm drilling b.  These drilling machines are mounted on
machine the floor and driven by more powerful
electric motors.
3. The sensitive bench ¢.  These are used to drill large diameter holes,
drilling machine multiple holes in one setting of the work,

heavy and large workpieces.

wiad | & fgfem 79e & ware & &iaw 11 & saar fafdrearet & e e

Frem 1 (3wl &1 wam) Frem 11 (fgfem =etm & fafsream)

1. Te i == a. g8 99 12.5 fpdt =ame 9 BT & ¥ gam ¥
fea & 9 & a1 @9 79 fdsw & gaa e A
fipe fopar wmar B

2. fzgw e feferm mshw b. ¥ fgferT wshe wsf ux @t 2y € ofi otfus
qIferRISTE gaforger AW &I Hanfad e £ |

3. ofede 99 fefdm asim c. %I IUGNT 9% =9 &% BE, B B UH AT H
®3 BE, 9 ofR 92 Ihd™ & ¥ & & fog
fepar srar %

(A) 1-a, 2-b, 3-c (B) 1-c, 2-b, 3-a

(C) 1-b, 2-c, 3-a (D) 1-b, 2-a, 3-¢

(E) Question not attempted / FIFaia e
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4 Which one of the following marking tool used for scribing lines parallel to a datum surface?
(A) surface gauge (B) micrometer
(C) punch (D) pencil
(E) Question not attempted
9 ¥ fohg AT IUBTOT HT IUANT 2 HAE & GHMGT (@0 g9 & foU fopar S & 7
(A) |THE T (B) #ghiHET
(C) ua (D) ufae

(E) omana usd

5 Match the Type of Files given in Column I with appropriate Use of files in Column II:
Column I (Type of files) Column II (Use of files)
a.  Riftler file i.  These files are used for
die-sinking, engraving and
in silversmith’s work.

b.  Tinker’s file ii.  This file is used for finishing
automobile bodies after
tinkering.

c. Mill saw file ili. These are used for sharpening

teeth of wood-working saws,
and are available in single cut.

d. Rotary file iv. These are used in die sinking
and mould-making work.

Hiad | & & T BEal & Gh @ ded 1 ¥ BEd & sfag swam ¥ fed:

Few 1 (P12 & TH) Fiem 11 (139 =1 S99m)

a. R wEd i. 39 wEal & syan sE-RifET,
IV 3T RIeaimy & &M o
fopar e )

b. Ty & wEa ii. 9 WEA & SUAN AHEEd
91Er @ fEwiar % s ffer &
& form fopan wmar )

c. Tuw off wgw iii. 3TehT IYLNT WhEl UL BE B

el ST % Tl bl Ao B
% fag fopan wam %, o o fmme
He H I9 BT £

d. Tl e iv. 39T Sydm =% fHfET ofR @™
TI9 & HW § fHar o ¥

(A) a-i, b-ii, c-iii, d-iv (B) a-iv, b-iii, c-ii, d-i

(C) a-iii, b-iv, c-i. d-ii (D) a-ii, b-i, c-iv, d-iii

(E) Question not attempted / iafd ¥s
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Which type of seam is used for duct work?

(A) Grooved seam (B) butt seam
(C) Pittsburgh seam (D) Lap seam
(E) Question not attempted

AferebT (3%2) & & oo e @9 &1 suE fear s & 7

(A) 7= &M (B) =z dm
(C) freas" = (D) <9 €™
(E) orgaia wsd

Which of the following is/are the purpose of using lubricants?
(i) Reduces friction and improves machine efficiency

(ii) Prevents wear, adhesion and corrosion

(i11)) Increase the load

(iv) Cools the moving elements

(A) Only (i), (i1) and (iv) (B) Only (i), (ii) and (iii)
(C) Only (iii) and (iv) (D) Only (i) and (ii)

(E) Question not attempted

TEdh & SUANT BT I Freferad § B 91F € 7

(i) =9 B9 HAT & 3T "l DI I@A § G BT 2|
(i) fram, smEsE ofit & &l Vobar &

(iii) X gem@r |

(iv) T q@f & 38T Bl ol

(A) Haa (i), (i) 87T (iv) (B) &aa (i), (i) sfr (iii)
(C) waa (iii) 3T (iv) (D) e (i) 3T (i)

(E) ergaitd usd

Snips are used to cut sheet metal upto

faw &1 Iuam q® B GG B G B HEA & Oy Har S §
(A) 60 SSW.G (B) 40 SSW.G

(C) 5S.WG (D) 20 S.W.G.

(E) Question not attempted / @Ra We7

The convexity of files helps

(A) to file concave surfaces

(B) to file convex surfaces

(C) to prevent rounding of edges of work
(D) the file to become straight when pressure is applied
(E) Question not attempted

A Iaad A 3 9edd §

(A) SEad §a8 WA & o

(B) ST ddg {@d & fag

(C) HREUS & B B gAHRK 99 & UdT o
(D) o« @M 9T G B AGr HE A

(E) ogaia ued
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10 Which type of load is greatly carried by the roller bearings?
(A) axial (B) radial
(C) combined (axial and radial) (D) circumferential
(E) Question not attempted
Ve FAfT garT geg dax o 6w 9 @1 g fopar o 2 7

(A) @& (B) =
(C) wawm (s o fredim) (D) ufkedra
(E) organa wed
11 Which one of the following is used for closing the end of a pipe which has an internal thread?
(A) caps (B) reducer
(C) plug (D) coupling

(E) Question not attempted

AT I I UEY & B &I &8 BT & [ 399 § hga! IUANT fhar wiar & ?

(A) ¥ (B) fregax
(C) (D) apyfeT
(E) &gaid us

12 Which of the following is method of metallic coating done by rolling or drawing the layers of
metal on the base metal?
(A) Enameling (B) Molten metal bath
(C) Spraying (D) Cladding
(E) Question not attempted
Preffas & & @9 § oTHR o1g T GG A G F A B A GreawT & A R g B B

fafr %7

(A) AT (B) Rrgen gon a1g @
(C) Toswm (D) =

(E) e gar@ usd

13 What is Flux?

(A) A chemical formed by a combination of the oxygen in the air with the metal.

(B) An oxidized coating to cover iron and steel sheets.

(C) It is an acid formed by putting strips of zinc in hydrochloric acid.

(D) Chemical used to clean metal and remove the oxides from the metal surface prior to
soldering.

(E) Question not attempted

AT T 7

(A) oG & G1Y &1 | STIoH & TAoH § S99 9 Uh TR |

(B) @ ofR Vi & aad B G & (0 Th SAaIhd BT

(C) U TEgEING TFs § e & Rew se & 99+ amn oS 31

(D) Wiesfi & & UBd U1g bl A% S X U1 Dl dqe d SHAES Bl &M b (Y SEIHT [
SN AT TEEE |

(E) organa ws
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14  Technical terms (Column I) in Metal Sheet Work and their Explanation (Column II) are given.
Mark the most appropriate option:

Column 1 Column 11

a.  Burring | The process of developing
the pattern for a sheet metal
object.

b.  Forming I The process of stretching a

piece of metal by hitting it
with a round head hammer,
as in forming a bowl.

¢.  Layout work Il The process of turning an edge
on a circular piece of metal.
d.  Braising IV The process of rolling sheet

metal into pipe or making
bends to form objects.
e oie ok ¥ dadiel 9 (Biem 1) ofit aal g9e (drew 1) & 8 3
gaffyes suga famea fafea #t:

Fem | Frem 11

a. W I e few sisiae & R e
Repfire 0t o W

b, wiRT I o % w252 & e R

e 7R § 9RGL Giew @l
wiehar, 9 6 T ®er0 9

q94 |
c. TS & &M Il o1g & MR 26 9T BT
T @l uieRan
d. s IV sfie o1g &l ugy & Td & ar
TGt B S B HSH B AiwaAT
(A) a-L, b, c-III, d-IV (B) a-IIL b-1V, c-I, d-II
(C) a-Il, b-IIL, c-IV, d-1 (D) a-IV, b-l, c-II, d-11I

(E) Question not attempted / safd T97

15 Which of the following is not a major cause of desertification?
(A) Over grazing (B) Deforestation
(C) Land Pollution (D) Water Pollution
(E) Question not attempted

o & & P91 7SS F UG G B T T 0

(A)  srfame (B) wf@E
(C) s wgw (D) & yguor
(E) argaitd usd
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16  Which type of screw threads are rounded at the crest and root?
(A) ACME thread (B) B.A. thread
(C) B.S.W. thread (D) B.S.F. thread
(E) Question not attempted

58 g &% Bp U [y $fT o8 WX T B E 7

(A) wHTE g% (B) diu. s
(C) druassw. 9= (D) €U, 9=
(E) orgaia wed

17 Rake Angle is used in a Single Point Cutting Tool :
(A) to guide the chips away from working surface.
(B) to cut freely without rubbing against the job surface.
(C) to get good surface finish.
(D) to increase Tool life.
(E) Question not attempted
A 45w SIS § Y& B0 BN YA BT B
(A) BIFT ® BEES § g B & [T TEES & H|
(B) w9 @ "as WX &1 T oma ¥ @R & faul
(C) 3Tl gag ieniur (TCha fhfaeT) o & &
(D) ﬁwﬁw(ﬁm)wﬁ%ml

(E) erafia 9ed

18 In bearings, rolling elements are made of
(A) PVC (B) chromium
(C) brass (D) steel

(E) Question not attempted
FIrET H, VT qe fhed a & &7

(A) drdm= (B) sifyas
(C) =™ (D)
(E) ergafa wed
19  Which one of the following instrument is used to measure the thickness of the sheet?
(A) standard wire gauge (B) steel rule
(C) try square (D) scriber

(E) Question not attempted
9T BT AIZE HUS & fou Fg IusHTor &1 IyanT fhar Sar & 7

(A) ¥ TR IS (B) & &
(C) zE @Y (D) ®h1EaT
(E) &rgana ws

20 In the nitriding process, the surface is enriched with
(A) silicon (B) carbon
(C) lithium (D) nitrogen
(E) Question not attempted
Tz uithar ¥, e 9 ST ST B
(A) Tl (B) e
(C) whifam (D) e
(E) srgaf wed
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21  Which of the following river originates from Gogunda Hills?
(A) Kothari (B) Berach
(C) Banganga (D) Khari
(E) Question not attempted

fret & & fopg =& &1 ST T Y geIeAl § wiar #7

(A) el (B) ==
(C) s mrm (D) @
(E) eorgara wed
22 The face of pulley is “Crowned” in power transmission. Why?
(A) To increase the tension. (B) To decrease the tension.
(C) To keep the belt centralized. (D) To allow the free pulley rotation.

(E) Question not attempted

qrEX ZiEHeE § gul & Je Cwes Bl 8l @i ¢

(A) TE so™ % fau (B) oM@ &4 & & fag
(C) s &l HEFpd W@ & oy (D) Ha gal WUL9M B &7 % g
(E) erar wed

23 Which one of the following material is not used for making grinding wheel?
(A) silicon carbide (B) diamond
(C) sand (D) aluminium oxide

(E) Question not attempted
9 ¥ fopg gl &1 SuE uERET €w 999 & fou @ fear S ?

(A) fafer wefze (B) =
(C) @ (D) UgabEE sifedEs
(E) ergara wed
24  Pitch of the rivet -
(A) 10 times diameter of the rivet (B) 2 times diameter of the rivet
(C) 3 times diameter of the rivet (D) 5 times diameter of the rivet

(E) Question not attempted

frae i fa:

(A) fEe & =@ & 10 T et & (B) f@e & =@ @1 2 T e €
(C) Tz & =9 &1 3 T &y & (D) TE= & = &1 5 T e &
(E) oraid 9ed
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25  Maximum power will be transmitted by belt when

Where Tmax = maximum tension

m = mass of belt per unit length
v = velocity of belt in m/sec.

(A) Tpax = 3m x v
(B) Tipe =2 % v2
(C) Tpax = 2m / v?

(D) Ty =3m [ v2
(E) Question not attempted
7 Z Afdhad T &1 oo & g
Tl T, = STHTT T
m = ¢ BT Ul 3BT TS Bl FATH
v = 9% @1 9 Hi/4. H
A) T ;
(B) T
(C) T, . =2m/v2
(D) T

(E) oTgana usd

26 The ability to resist the effect of tensile forces without rupture is known as

(A) malleability (B) brittleness
(C) tenacity (D) toughness
(E) Question not attempted

o 22, T 99 & TWE @ SEUTaT BT B AT FT BEAT & 7

(A) SmaTaadsaEr (B)  #qgan
(C) gem (D) @oltar
(E) orgaia ued
27  The taper shank drill is removed from the machine spindle by means of
(A) hammer (B) punch
(C) tang of file (D) drill drift

(E) Question not attempted
aslie Rasw @ R e fee &l =1 | fepren oiren @

(A) &0 & (B) "= ¥
(©) W age ()@ (D) fw fewe &
(E) ogafa g

28 Mallets are made of
(A) ceramic metal (B) hard wood
(C) soft wood (D) ferrous metal
(E) Question not attempted
Hole fohed &9 BId 2 7
(A) Hifm ug (B) 3 whsl
(C) T @@sl (D) e =g
(E) argaftd usd
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29  The pair of districts having Red and Yellow Soils, is (choose most appropriate from below)
(A) Alwar - Bharatpur (B) Kota - Bundi
(C) Sirohi - Sawai Madhopur (D) Sikar - Pali
(E) Question not attempted
o § ¥ a8 fven g 9@l @@ 9 9l gar o W g, - (999 Suged go)

(A) ST@EX — @Y (B) @rer — &
(C) T — garg =meigx (D) dH — T
(E) orgaRia usd

30  Which one of the following measuring instrument is used for setting work-holding devices on
machine tools/work-tables?
(A) Height gauge (B) Vernier bevel protector
(C) micrometer (D) Vernier caliper
(E) Question not attempted
79I 2@ A1 a2 UX B Bl ThS ATl IUBLYT DI WG B & g Frefanad § F fomg AT =
%1 SuEn fopar s &7

(A) ®1gE = (B) affax sa@ wieat
(C) wAmgehHET (D) afET Hfaax
(E) ogaia ued
31 Who was the first Lokayukta of Rajasthan?
(A) Justice G. L. Gupta (B) Justice I. D. Dua
(C) Justice S. S. Kothari (D) Justice M. B. Sharma

(E) Question not attempted
TSR & YoH Aorged b & 7

(A) =amEfd S Td. T (B) =mrfd omg. 1. gam
(C) =Rt wq. wE. Bier (D) =mEid oA, §1.
(E) orgaia wed

32 Which of the following is a prime cause of winter rainfall in Rajasthan?
(A) Intra Tropic Convergence Zone (ITCZ)
(B) Southern — Western Monsoon
(C) Western Disturbance
(D) Loo
(E) Question not attempted
e & @ @ Tore™ # sfiaemiE aui & wrafis SR e
(A) it Iwmptegdr st a5 (e a8 es.)
(B) afeofi—ufyasdt amea
(C) ufderl fareiy
D) T
(E) organa ued
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33

34

35

36

37

Following are the systems of units.

L. F.P.S. System

II. C.GS. System

. M.K.S. System

Which of the above is/are British System of units.

(A) Only I and II (B) Only I

(C) Only I and III (D) All L, II and III
(E) Question not attempted

T B gt FrefaRad ¥

[. Uw9LTd. gomr

1.  doiug. gomen

Il TH..TE. g

SUlFd ¥ o B 6 gwEar o fafeer womer 3

(A) Haa [ st 10 (B) wad |

(C) aw 1 &t 11 (D) L I & 0T &4
(E) ergaitd usd

Which center is used for offset method of taper turning on a lathe?
(A) Plain Center (B) Half Center

(C) Ball Center (D) Tipped Center

(E) Question not attempted

e (") 999 9T e faft g 2ux 2w & fu foee d=et @ wa s ¥

(A) = X (B) &% ¥=X
(C) w &= (D) fews d=x
(E) orgaia usd

The angle of prick punch is

fre = @1 0T T BT 7

(A) 60° (B) 45°

(C) 30° (D) 90°

(E) Question not attempted / ST@NT s

GET IT ON
Google Play

Which of the following soil is basically associated with Western desert of Rajasthan?

(A) Alfisols (B) Aridisols
(C) Enceptisols (D) Vertisols
(E) Question not attempted

o & & SFdr ga1, Teny™ % ufyedl A ¥ qed: getid & 7

(A) shHiEied (B) ufErared

(C) zH<rEed (D) oetErd

(B) srgafea e

Riveting is a

(A) permanent joint (B) temporary joint
(C) semi — permanent joint (D) none of these
(E) Question not attempted

e us l

(A) @ e (B) swmEl S
(C) ol site (D) 379 & ®IE 7@
(B) e e
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38 Which of the following is/are the reason/s for installing filter in suction line of hydraulic pump?
1. to increase the pressure in the pump. 2. to reduce pressure in the pump.

3.  to preventing foreign matter. 4.  to reduce the oil to enter.
(A) Only 1 (B) Only 3
(C) Only 2 and 4 (D) All'1, 2,3 and 4

(E) Question not attempted
EZEIT U @l HH @39 § ey WG &id & fau Fefaiag & § &9 98 sy 2 7

1. U9 ¥ 399 9e™ & [0 2. U9 H TEE & L & WU
3. st ward & T F forw 4. I YAF B BH B P 60
(A) e 1 (B) 4w 3

(C) aw 2 & 4 (D) & 1,2, 33T 4

(E) ergara wed

39 The beam scale reading of dial caliper is 28 mm and the reading shown by the hand of the dial
is 26. Take each dial graduation represents 0.05 mm. Calculate the actual reading.
T ST HRTAT B G whe AT 28 el ¥ efi sww & ey (¥3) q@w e A 26 ¥ Am
e 6 g@e sEa A9 dsueE 0.05 fred @t qutar ¥ 1 arafas G s @il
(A) 293 mm (B) 26.7 mm
(C) 36.4 mm (D) 16.4 mm
(E) Question not attempted / safd Hed

40  Which of the following has maximum thermal conductivity?
(A)  Aluminium (B) Steel
(C) Brass (D) Glass
(E) Question not attempted

o o & forga atfreaw a9 deerhdar & 7

(A) gt (B) @
(C) @ (D) =4
(E) organa ued
41 "Godwar region' is associated with :
(A) Chambal Basin (B) Banas Basin
(C) Luni-Jawai Basin (D) Ghagghar Basin
(E) Question not attempted
e gasr ¥ gtag ¥
(A) = 9few (B) s afd
(C) wHI-orarE I (D) ==t Ife
(E) i usH
42  Designation of Thumb screw is C M8x14 IS : 3726-4.6 Here C refers
(A) Size (B) Type
(C) Mechanical property (D) Length

(E) Question not attempted
o9 B % va™ C M8x14 1S : 3726-4.6 ¥ C wafird &<ar &

(A) 9 (B) war
(C) == o (D) g
(E) organa ws
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43  Which of the following place was known as Tamrawati during ancient time?
(A) Khetri (B) Ahad
(C) Ganeshwar (D) Gilund
(E) Question not attempted
g # Frafaied & 9 SFE @ awed & AW " S S o ?
(A) @Rl (B) omEs
(C) mheat (D) frefs
(E) orgaia wsd

44  As per RTI Act 2005, in reference to First Appeal which of the following are most appropriate?
1.  Appeal should be done in triplicate copies.
2. The senior most officer in each department is appointed as the first appeal officer.
3.  The first appeal should be made within thirty days from the date of notification of the
Information Officer or if no information is given.
(A) All 1, 2 and 3 are correct (B) Only 1 and 2 are correct
(C) Only 2 is correct (D) Only 2 and 3 are correct
(E) Question not attempted
ardtens erfufrad 2005 % oER, vud odie & wad ¥ Frefafad & & @ @1 999 Sugw 2 ?
1. orde aF gfodi § @t ST a@Teg|
2. % faum A w9 afits afuerd & gum odie siftrerd Frgea fear s 2
3. v e EA ST i STigE @i [ty ¥ e & % Hiaw orerer e ga 7 R 9 9

@ T A
(A) =i 1,2 3 3 | & (B) Faw 1 3w 2 @&
(C) Faw 2 @é & (D) ew 2 & 3 wél
() omaRa v
45  Who among the following was leader of Peasant movement of Shekhawati?
(A) Vijay Singh Pathik (B) Sardar Harlal Singh
(C) Kumbharam Arya (D) Nathuram Mirdha

(E) Question not attempted
frafofeg & @ &9 sraEr % feae s & war 47

(A) fesrafiz ufues (B) &R & fie
(C) =™ omd (D) e et
(E) srgef we
46  Dry Teak Forests are mainly found in which of the following districts?
(A) Bikaner (B) Alwar
(C) Sri Ganganagar (D) Dungarpur

(E) Question not attempted
% |FE 99 gead: Frefataa fat § § fhad ae e €7

(A) @Y (B) or@at
(C) o TTT (D) smyx
(E) ergafia 9ed
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47 is prominent in the architecture of Rajasthan. (Choose the most appropriate option from
below)
(A) Religious sentiments (B) Aesthetic feeling
(C) Feeling of Bravery and Security (D) Feeling of sensuality and lust
(E) Question not attempted
TSRATE & T Hel o yaa £ I(Fr & & w9 Suge foeer )
(A) efifes sramT (B) dr=d wramn
(C) sfrd wa gram & e (D) wE-Edr T arEET @ HiesT
(E) oaRa e
48 Jeen Mata is Kuldevi of which Rajput Dynasty?
(A) Guhil Dynasty (B) Rathore Dynasty
(C) Parmar Dynasty (D) Chauhan Dynasty
(E) Question not attempted
ST AT BEY TS 997 B peradl & 7
(A) Tfew et (B) s s
(C) 9w dy (D) e g
(E) oana usd
49  Who was author of Pratap Raso?
(A) Kavi Jan (B) Jachik Jeevan
(C) Kavi Narottam (D) Narpati Nalha

(E) Question not attempted
YA TR & W@ DI 977

(A) g oW (B) s SEe
(C) wfq ™ (D) wufe wreet
(E) ergafta ued

50 When did 74 Constitutional Amendment Act come into effect?
(A) 1 June 1993 (B) 1 August 1994
(C) 19 June 1994 (D) 9 June 1993

(E) Question not attempted
7491 Gau™ WeleT AUFTET B AT EI 7

(A) 137 1993 (B) 1 amra 1994
(C) 19 317 1994 (D) 9 5= 1993
(E) orgaRa ws

51 Clothes and ornament at the time of marriage given by groom side to bride side is called as
follows - (Choose the most appropriate option from below)
(A) Besh (B) Bari Padla
(C) Mayra (D) Muklab
(E) Question not attempted
fqare % G99 9X & E10 9Y UE Bl BUS 9 Ted 97 A § O v o | R’ wed & — (e A g ged

Tyt ferer )

(A) Aq (B) =l wzen
(C) =m™Uu (D) H&HaE
(E) orgaftd ued
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52  Match the most appropriate pairs :

Animal Breed
a. Cow (Zebuine Cattle) i. Malpura
b.  Buffalo ii.  Jamnapari
c. Goat iii.  Murrah
d.  Sheep iv.  Kankrej
it T
a. T (IgET "agh) i =g
b. ¥ ii.  SHATERY
c. gHU i, g
d 9 iv. @B
(A) a-ii, b-i, c-iv, d-iii (B) a-iv, b-iii, c-ii, d-i
(C) a-i, b-ii, c-iii, d-iv (D) a-i, b-iv, c-iii, d-ii

(E) Question not attempted / gaRd 9s

53  The process of enlarging the end of an existing hole to accommodate the head of a socket screw

is called
(A) Spot facing (B) Boring
(C) Counter boring (D) Counter sinking

(E) Question not attempted

e B & 9 ® GAEINTG w0 % 0 Ao 82 & &N & §31 B @ R weem @

(A) T SR (B) =ifa
(C) = I (D) =y fufdm
(E) ogand usd
54 Choose the incorrect pair :
Agro climatic zone Districts
(A) Arid western plain — Barmer, Jodhpur

Sirohi., Pali
Jaipur, Ajmer

(B) Internal drainage dry zone
(C) Semi arid eastern plain

(D) Humid Southern plain — Dungarpur, Banswara
(E) Question not attempted
SETT g Bl BT ¢
F TAag Fa91 o
(A) g ufyaHr T & —  SSHY, MUY
(B) ord: WA Jareer a3 —  f{Od, umer
(C) o/E %6 ai JaT & — TR, T
(D) e iyl et & — YRR, qrEare
(E) organa ued
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55 Kalibai was related to which princely state?
(A) Banswara state (B) Dungarpur state
(C) Udaipur state (D) Pratapgarh state
(E) Question not attempted
HeEE & g9y g fama § ar?

(A) wigare T4 ¥ (B) WYX T 4
(C) TEayx g ¥ (D) w9 T g
(E) orgaia wsd
56  Which of the following is not a method for water conservation?
(A) Rain water harvesting (B) Ground water extraction
(C) Improving irrigation efficiency (D) Avoiding water wastage

(E) Question not attempted

frafarad § @ @A 9 S| G Sl Ay T8l g ?

(A) st S| HUE9 (B) 9ot ar&d
(C) o awar & fasE & (D) W@ % FEUERT Bl b
(E) &rgana ws
57 In which month is the festival of Kajli Teej celebrated in Rajasthan?
(A) Shravan (B) Falgun
(C) Bhadrapad (D) Vaishakh

(E) Question not attempted
TR § Horel arel 1 ud o 918 & T S &7

(A)  smEw (B) Wi
(C) wEIR (D) dsmE
(E) organa ued
58  Which pin is used to assemble machine parts if they are not in straight line?
(A) Cotter pin (B) Taper pin
(C) Spring pin (D) Parallel pin

(E) Question not attempted

afg 7Y AT Tt W F 9 & A 3% bed & e B o e ygea & S ¥ 7

(A) e fir (B) ¥ fir
(C) T = (D) ga=R U=
(E) aaia ved
59  Nathra-Ki-Pal and Thur-Hunder field is known for which of the following mineral resources?
(A) Copper (B) Uranium
(C) Gypsum (D) TIron-ore

(E) Question not attempted
T T g R &, Pt § A P @l g ¥ 9 o 7

(A) arar (B) giftmaw
(C) form (D) wre—aTawh
(E) eorgafa wed
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60

61

62

63

64

Match the Dynasty in Column I with Founder in Column II.

Column I (Dynasty) Column II (Founder)
1.  Rathod a.  Churaman
2. Chauhan b.  Dulha Rai
3. Jaat c.  Vasudev
4.  Kachchhawaha d. Siha
BiaH | § Tordsr &1 B 11 & Ems & |y Haw sl
Tﬁrgg I (TrrEs) Frew 1 (Fenes)
1. : a.  EMET
2. e b. gwE @
3. Wr c. dgEa
4. ol d. faer
(A) 1-a, 2-b, 3-c, 4-d (B) 1-d, 2-c, 3-a, 4-b
(C) 1-c, 2-d, 3-b, 4-a (D) 1-b, 2-a, 3-d, 4-c
(E) Question not attempted / Tgafta 4s
With whom was 'Punja Dheer ji' associated?
(A) Motilal Tejawat (B) Vijay Singh Pathik
(C) Govind Giri (D) Kesari Singh Barhath
(E) %easﬁion not atter%%ted i
el ' Rpeeh WY T BT o
(A) A Jsad (B) fasrafte qfiem
(C) Tifa= fiIlX (D) wHEURTE aRES
(E) ogana wed
Who built the famous Jain temple of Ranakpur?
(A) Tejpal (B) Kumbha
(C) Sundar Suri (D) Dharnishah
(E) Question not attempted
THYT & URAE A AT @ i fes weman ?
(A)  qeIT (B) g
(C) g=x gl (D) eefieme
(E) &rgana ws

GET IT ON
Google Play

What are the length of extension from North to South and East to West of Rajasthan, respectively?

(Choose the most appropriate option from below)
(A) 826 and 869 kilometers
(C) 892 and 829 kilometers

(E) Question not attempted

(B) 862 and 896 kilometers
(D) 809 and 899 kilometers

TSI % IO ¥ o O qd & wived fawr o @, wer e &7 (P F | ged suge fawe

)
(A) 826 ue 869 feparex
(C) 892 ue 829 fpardiex

(E) srgaRa v

Balsamand lake is situated near .

(A) Udaipur (B) Alwar
(C) Jodhpur (D) Ajmer
(E) Question not attempted

AEHS A % o fad T

(A) sTg (B) o
(C) (D) smmT
(E) aﬁa LRS!

+ 21TIF-W124] 17
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65  As per the provision of the 74th Constitutional Amendment Act, development of the industrial

(B) emafa usd

66
facility?
(A) NH-925 A (B) NH-222B
(C) NH-112C (D) NH-08
(E) Question not attempted / iFaftd wss

67 Who was the initiator of Chauhan clan of Ranthambor?
(A) Prithviraj (B) Govindraj
(C) Hammir
(E) Question not attempted
TORFHT & WIE 9T B YD DI o1 7
(A) g (B) wifa=st
(C) =R (D) Seafds
(E) organa ued

68 The portion of the shaft remains in the bearing is often referred as
(A) Cage (B) Roller
(C) Journal (D) Race

area was to be transferred to —
(A) Rajasthan State Government

(B) Rajasthan State Industrial Development and Investment Corporation

(C) Urban Local Bodies
(D) Rajasthan Housing Board
(E) Question not attempted

743 d3eive demew sifufad & wagm & oER, et &% % fawm @ f5d swiafa fear s

qr?
(A) TSI T @I

(B) o (g e e v ey e

(C) ol W™ e
(D) oTET EERIT 98

Which of the following National Highway is used by Indian Airforce as emergency landing

frfafad & & @I TS TS Dl HRA 91g) &1 Saraem oot giaar & &9 3 &6 § w6 7

(E) Question not attempted

(D) Uday Singh

ez &7 9 fewmr o feafor & wear %, srear wma fear smar ®
(B) @ (W)

(A) T ()
(@) SRk

(E) ofgana ued

+ 21TIF-W124]
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69

70

71

(E) Question not attempted

frefafag & 9 @F 91 fa@eg 5S SFgUen B giafe e 7
(A) wHE=E B, T HL, IIHTC, AFHHT HL, TN

(B) omaR, @Y, Rewe, 9N, TUdh
(C) ¥z, 999, 9=, 99, 9

Which of the following option represent the 5S concept?
(A) SORT, SET, SHINE, STANDARDIZE, SUSTAIN

(B) SHAPE, SHORT, STILT, SECTION, STOP

(C) SET, SECTION, SHINE, SHAPE, STOP

(D) STANDARDIZE, SHORT, SUSTAIN, STILT, SHAPE

GET IT ON
Google Play

D) HAF&HT BT, BIE ST, E, feee, e &=
D

(E) organa ued

Chief Minister

B oL N o—

Speaker of Legislative Assembly
5. Chief Justice of High Court

(A) All1,2,3,4and 5

(€} 1,2, 80d3

(E) Question not attempted

Minister in-charge of Department of Home
Leader of Opposition in the Legislative Assembly

1,2 and 5
1,2, 3 and 4

Who amongst the following are included in the committee to recommend the Chairperson of
Rajasthan State Human Rights Commission to be appointed by Governor?

T 210 Fga Y S T USRI e AATE STAR 6 STEAE dl ST S are |

H Frefarad & & B9 eMHa B @ ¢
1. Hews

2. e faum & gerd @5

3. faum w91 ® fqua & =

4, fagm @1 srema

5. U ey % e e
(A) "W 1,2, 3,435

(C) 1,283

(E) erara wed

(A) Major Showers
(C) Patrick Laurence
(E) Question not attempted

1857 & fasi®e & 99T ®ieT § Gifdiehd U= HH o917
(B) "X A
(D) @ g

(A) AR dag
(C) ufgs amed

(E) argafyd usd

+ 21TIF-W124]

Who was Political Agent in Kota at the time of Uprising of 18577
(B) Major Burton
(D) Colonel Eden

19
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72

73

74

75

76

Which tool is used to produce hole in a solid material?
(A) drill (B) reamer
(C) counter bore (D) tap
(E) Question not attempted

e el ¥ fom w0 % R Rew 2@ B SRR Rpar S 7

(A) fw (B) It

(C) BT I (D) 24

(E) orgaia wsd

Who was sent by Akbar to conciliate Pratap in December 15737
(A) Jalal Khan (B) Man Singh
(C) Bhagwant Das (D) Todarmal

(E) Question not attempted

e 7 fedeR 1573 # wam & @95 % fog ey dan?

(A) @@ &= (B) = fde

(C) wma= =™ (D) 2r=TAd

(E) eorgafia ued

Which one of the following thread is used in screw jack?

(A) square thread (B) worm thread
(C) knuckle thread (D) V thread

(E) Question not attempted
B 9% H fpd 9= @1 IuET fehar e ¥ °

(A) AR 93 (B) =H gs
(C) & &= (D) i 9=

(B) orgafa uem

The source of heat in arc welding processes is

(A) diesel (B) electricity
(C) kerosene (D) mechanical energy
(E) Question not attempted

o afesT withar § SoAT @1 &g @ g7

(A) Srora (B) farstarr

(C) HUE™ (D) =it ol
(E) ergai wed

The preferred material for soldering bit is

(A) aluminium (B) vanadium
(C) copper (D) steel

(E) Question not attempted

et {42 & T fhg gl & wafiysar & Sr & 7

(A) ugfHtEs (B) afEam
(C) @ (D) ==
(E) organa wsd
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77 Rajiv Gandhi lift canal Phase - III is related to which of the following districts of Rajasthan?
(A) Jaipur (B) Jodhpur
(C) Jhalawar (D) Kota
(E) Question not attempted
TSt e fore T e — 1 @ ey e § | fee fm g 37
(A) YT (B) sherge
(C) wwmaTs (D) @t
(E) orgaia wsd
78 Who was the first election commissioner of Rajasthan?
(A) Shri Amar Singh Rathore (B) Shri Madhav Giri
(C) Smt. Kiran Mina (D) Shri Indrajeet Khanna
(E) Question not attempted
USRI & U9 gAE ogad i o 7
(A) & epftiE W (B) o "re frdy
(C) St fpzor Hom (D) i gasia @
(E) eorgafia ued
79  Which one of the following medium is used in pneumatic torque wrenches?
(A) water (B) oil
(C) air (D) none of these
(E) Question not attempted
argaTea gargel g & forg A @1 Suan fean oTan & °
(A) Oml (B) o«
(C) =g (D) T & B
(E) orgara e
80  Which one of the following is not a stake holders used in sheet metal work?
(A) Bench plate (B) Revolving bench plate
(C) Face plate (D) Universal stake holder
(E) Question not attempted
ofie e & @ A fohd ®& s & ®9 W I9AM e fopar S ?
(A) d9 e (B) TaffeeT &9 @
(C) & @ (D) JHaEd BE sest
(E) ergaid usd
81 Flame temperature of Oxy-acetylene gas flame

(A) 3100°C to 3300°C

(C) 2700°C to 2800°C

(E) Question not attempted
FTRIT-THREAE T Y9 &1 FH JIq
(A) 3100°C & 3300°C

(C) 2700°C & 2800°C

(E) ogaia ued

+ 21TIF-W124]
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(B)
(D)

(B)
(D)

2400°C to 2700°C
1800°C to 2200°C

% 919 BT B
2400°C ¥ 2700°C
1800°C & 2200°C
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82  The twist drills are made by -
(A) wood (B) aluminium
(C) HSS (D) mild steel
(E) Question not attempted
Zhre few Rred o & 27

(A) wHS (B) tgfufram
(C) TaTEwE (D) #EeE €
(E) orgaia wsd

83 Example for self — centering chuck
(A) back plate (B) tail stock
(C) 4 jaw chuck (D) 3 jaw chuck

(E) Question not attempted
UeH HFOT 9% &1 ISR F;T 7

(A) &% w2 (B) @ wi®
(C) 4 =i =% (D) 3 =i =%
(E) orgafa wed
84 Name the famous lady of Jodhpur who sacrificed her life for the protection of forests -
(A) Amrita Devi (B) Sita Bai
(C) Rameshwari Devi (D) Geeta Devi

(E) Question not attempted
T DI V@ &G STUT WO BN SR I ATl YT B GRS Aol B A &

(A)  omgan < (B) e
(C) THFL <& (D) rar &
(E) orgara e

85 The operation of enlarging and truing a hole is known as
(A) drilling (B) boring
(C) casting (D) forging

(E) Question not attempted
fi5x @l 98T B SN TR & DI Wk T Hewdl © ¢

(A) fefem (B) it
(C) @R (D) It
(E) ergaid usd
86  Scriber is made up of
(A) Copper (B) High Carbon Steel
(C) Mild Steel (D) Cast Iron

(E) Question not attempted

whIEET 7 o | TeheeRr 97 &3 Een & 7

(A) U (B) S ®Ed 3
(C) 73 @™ (D) wwal el
(E) ergara ved
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87

88

89

92

91

Pichhvai paintings are related to which style of painting?

(A) Marwar (B) Nathdwara
(C) Dhundhar (D) Alwar

(E) Question not attempted

figarg famie e fom oo @ awifya 37

(A) HAREE (B) s

(© R (D) et

(E) orgaia wsd

Which cutting fluid is used for Grinding of Mild steel?

(A) Mineral oil (B) Water-soluble oil
(C) Non synthetic cutting oil (D) Parafin

(E) Question not attempted

g T &I ABRET & [0 SFEr & atd (BT wEs) I9dm § foar s § 7

(A) wauig (eeE) o (B) U # gemsiie ae

(C) orEfyes waw o (D) it

(E) &rgana ws

Panchana Dam is located in which of the following district of Rajasthan?
(A) Bharatpur (B) Karauli

(C) Dhaulpur (D) Sawai Madhopur

(E) Question not attempted
qiEET STy U9 % e ¥ few e A Rerg #7

GET IT ON
Google Play

(A) WL (B) !

(C) Hmge (D) g HTEYT

(E) organa ued

Identify the tool used to adjust the tightness of nuts and bolts to the desired value.
(A) open end spanners (B) torque wrench

(C) ring spanners (D) box spanners

(E) Question not attempted

T2 R diFe B TE AF d% HET & 0 R I &1 SuE fear s & 7

(A) oo ds @R (B) zi% fa

(C) for & (D) i &Y

(E) ergai wed

Descriptions related to which princely state are available in 'Dastur Kombar' (Komwar)?
(A) Bikaner (B) Jaipur

(C) Jodhpur (D) Udaipur

(E) Question not attempted

TER AT (BFaR) ¥ fra fama & gafaa guie e & 7

(A) dHHT (B) s@gT
(C) wiragR (D) T=agy
(E) ergafa wed
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92

93

9%

95

96

97

Based on the type of sheet metal tool, Snips is a
(A) marking tool (B)
(C) measuring tool (D)
(E) Question not attempted

offe Few TA % B & oMER 9, faw wr &7

(A) Haasd T (B) Td@mEd %

(C) == T (D) T ¥ &5 TEl

(E) ogana ued

The joining of two sheet metal pieces at an evenly divided angle is called
(A) nibble (B) embossing

(C) miter (D) pierce

(E) Question not attempted

THM B9 § [qeieTd @ror 9 erget @i &l $ffe B Sies & Uihar w1 Hewnl @ ¢

(A) Fraw (B)
(C) P (D)
(E) organa wsd

production tool
none of these

TR
T

What type of colors are used for information signs?
red symbol and white background
(C) yellow symbol and black background (D) White symbol and blue background

(A) White symbol and green background (B)

(E) Question not attempted

TG 3 9 Gohal & g fhg aw® & 0 &1 SudEnT R S 7

(A) HHg warh ofit &0 Jhues
(C) e wdies 3T BT Jhues

(E) &rgaia ges
A is used to determine the pitch of a thread.
(A) wire gauge (B) feeler gauge
(C) fillet gauge (D) screw pitch gauge
(E) Question not attempted
@1 39, 9T H g §d BT 6 fou fmEr e #)
(A) @R 1= (B) e
(C) frde = (D) & fra =
(B) e e
Which is used to file corners and angles which are more than 60°?
(A) round file (B) flat file
(C) square file (D) triangular file

(E) Question not attempted

60° § a1ftres & wIFl ST B B BB BT b [Q hdHT SUF femar war &7

(A) TS I (B)

(C) TharEaX wEd (D)

(E) orgaia wed

Which one of the following file is used to remove larger quantity of metal?
(A) rough file (B)

(C) smooth file (D)

(E) Question not attempted

g1 AN § U1g e & g 379 9§ 69 BIEe @ SudnT fhar s g7

(A) T wEd (B)
(C) ¥& wrEd (D)
(E) oTgana wed
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(B) T Wil X THE SHUES
(D) @ waile S Aen Jeues

Fie HIEA
ZIEUER WhiEe

bastard file
second cut file

TS HEA
Yhs ® B3

GET IT ON
Google Play
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98 Match the Type of Protection given in Column I with appropriate Hazards to protect from in

Column 1I:
Column I (Type of Protections) Column II (Hazards)
-
.—_--'\-u-/ \\ -,
1. ‘ i.  Spatter, falling and striking

objects

2. ii.  Hot spatter and working in
wet areas

3. iii. High noise level

4. iv. Hot particles

ied | o ffu 0 geen & Suged v (Sur) & wied 1 & feu 1o gqd fed gren fa w9 framn:
e 1 (geen & van) Few 11 (@ay)

7~
f

/ 3

f

e P Tra,

2. ii. T B¢ T Mt &= A ®™ B
3. iii. & 9N ®WT

4. iv. T &9

(A)  1-i, 2-ii, 3-iii, 4-1v (B) 1-ii. 2-1, 3-iv, 4-iii

(C) 1-iv, 2-iii, 3-ii, 4-i (D) 1-iii, 2-iv, 3-1, 4-ii

(E) Question not attempted / safa Wed
1 - 5 ontd...
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99 In cutting right hand threads. the spindle and lead screw rotates in the
(A) same direction (B) opposite direction
(C) same or opposite direction (D) spindle rotates but lead screw does not rotate
(E) Question not attempted

grar &1y g2 & s §, Rued o dis o ged ¥

(A) To= fgem A (B) fouda fasm o
(C) wuM a1 faud faem & (D) fawsa gwar # @fe s & & goar &
(E) orgaftd 9ed
100 Zinc coated iron is termed as
(A) galvanized iron (B) cast iron
(C) black iron (D) tinned iron

(E) Question not attempted
9 WeT 1 wEal ¢ e 9 e @ ua g9el g s 7

(A) Teafia sma (B) & #mae
(C) =A% omaw (D) fr= omaE
(E) organa ws

101 Which heat treatment process is used for reheating the hardened steel to a temperature below
400°C, followed by cooling?

(A) annealing (B) normalizing

(C) tempering (D) carburizing

(E) Question not attempted

BT FHHT T YAT BT ST Feridd €I &l ga: 400°C & 9 &% Qo 9T IUaiid & &
o fepan am ®, foraes @1g oo @ ulhar @1 o 7

(A) ST (B) maEiomT
(C) uftw (D) e
(E) emar@ wed
102 With the increase in preventive maintenance cost, breakdown maintenance cost :
(A) Increases (B) Decreases
(C) Remains same (D) None of these

(E) Question not attempted
TR SRETT AN % S8 & W SHSIeT e W

(A) =&l & (B) w=rear
(C) T9M T 3 (D) 399 4§ ®Ig e
(E) orafa gt
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103 The file grade which is recommended by Bureau of Indian Standards (BIS) is
(A) bastard file (B) smooth file
(C) bastard and smooth file (D) rough file
(E) Question not attempted

T ST Ifeaq W qan f6d wEa IS @1 SYE B Sl g 7

(A) wT&E wEW (B) &3 i
(C) s T T[T wEw (D) % ®Ew
(E) organa ws
104 The material removal takes place during the filing in a
(A) return stroke (B) forward stroke
(C) both forward and return stroke (D) none of these

(E) Question not attempted
HEfT & & A, fhw wie § arnl gedt B 7

(A) U999 ®%H (B) = 2%
(C) & 3% usg &b T (D) 379 & &I &
(E) ergaiid v
105 AWS - E 6013: In AWS codification of electrodes, 3 stands for
(A) Tensile strength (B) type of flux coating
(C) welding positions for electrodes (D) electrode

(E) Question not attempted
AWS —E 6013: 3092is & Tssg uq s § 3 &1 a1 & ¥7

(A) T aWE (B) A HIFET &1 FahTT
(C) seiwle & forg afeT Rafd (D) 3wEe
(E) ergafta e
106 Wringing word is associated with :
(A) Slip Gauge (B) Roller Bearing
(C) Rack and Pinion (D) Needle Bearing

(E) Question not attempted
fififT o= @1 g9y ¥ -

(A) fem = & (B) et fyafar @
(C) & tus s @ (D) frea fyafar &
(E) ergafa wed
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107 Calculate the height of the slip gauge pack to raise a 150 mm sine bar to an angle of 40°

150 frft g a) & 40° & HI9T T% I & U Ry a9 ¥ G SHEE fhal e ey ?

108

109

110

(A) 96.4 mm
(C) 196.4 mm

(E) Question not attempted / Iad g

The pressure in the gas cylinders
(A) decreases

©
(E) Question not attempted

T facdist & ofay &1 I@, dUHE F §1Y
(A) &9 &mam @

(C) ¢ geama & &

(E) agai@ usd

no change

(B) 20 mm

(D) 120 mm

with the temperature.

(B)

(D) none of these

increases

|
(B) woar @
(D) T ¥ & TEf

What is the procedure to build up the slip gauge for particular dimension?

(A)
(B)
(©)
(D)
(E)

Maximum number of blocks

Built with grade 0 accuracy

Question not attempted

Start wringing with small slip gauge

Starting wringing with the largest slip gauge

faftre amam % fog Reo = S99 @ ufear T 27

(A) B f@g I § gEET 9% B

(B) w=Aid Bl feehaq e

(C) & 5 fely 71 § g1 & &
(D) ¥z 0 W % iy Fafia

(E) ergara wed

A.C. welding supply has

(A)
(©)
(E)

v afeT syt &

(A)
(©)
(E)

high ampere — low voltage
high ampere — high voltage
Question not attempted

g ¥l
Ieg T diees
Teg THET-Ted dieed

AN U9

+ 21TIF-W124]
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(B)
(D)

low ampere — high voltage

low ampere — low voltage

(B) = wrir-—g=a diees
(D) Fr= - giees
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111 Which type of threads are used for lead screw of machine tool?
(A) Square thread (B) V thread
(C) BSW thread (D) Knuckle thread
(E) Question not attempted

A0 T & @S B & (0 R YER @ g2 ugwd @ S &

(A) a2 (B) &
(C) wruassy. oI (D) +d gar
(E) orgaia ued

112 ISSH 3200 x 600 x 1.00 denotes

(A) 3200 is the length of the sheet (mm), 600 is the width of the sheet (mm), 1.00 is the
thickness of the sheet (mm)

(B) 3200 is the width of the sheet (mm), 600 is the length of the sheet (mm), 1.00 is the
thickness of the sheet (mm)

(C) 3200 is the length of the sheet (mm), 600 is the thickness of the sheet (mm), 1.00 is the
width of the sheet (mm)

(D) 3200 is the thickness of the sheet (mm), 600 is the width of the sheet (mm), 1.00 is the
length of the sheet (mm)

(E) Question not attempted

ISSH 3200 x 600 x 1.00 =4t g9ifer & 7

(A) 3200 oz @ @ & (Reft ), 600 she @ =eE & (Relt &), 1.00 sie @ e & Rel g
(B) 3200 st @&t e & (edt #), 600 sfie &t warg & (Re ), 1.00 she & 9 & (Redh o
(C) 3200 dfre &1 wag & (el ®), 600 e & @reg & (Bredr ®), 1.00 ste @1 g & (Beh o

)
)
)
(D) 3200 sfie & @ & (Bel %), 600 sfe & 9o & (Rel ®), 1.00 die & e & (Red F)

(E) sgaia wed

113  Which type of nut is used to tighten the blade in hacksaw frame?
(A) square nut (B) thumb nut
(C) cap nut (D) wing nut

(E) Question not attempted

tndl H9 ¥ g Ya & W BT IUUNT S B hOd & [0 R war &7

(A) I 72 (B) ¥g =2
(C) 9 - (D) fm 7
(E) erafa wed
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114 A micrometer has a negative error of 0.02 mm. What is the most appropriate reading when it
measures 19.51 mm?
(A) 19.53 mm (B) 19.71 mm
(C) 19.48 mm (D) 19.55 mm
(E) Question not attempted

U AEHHRT § 0.02 B @1 FonEe A ¢ 59 g8 19.51 B O A & 1 daitue suge AT

T BT P

(A) 19.53 firy (B) 19.71 fidy
(C) 19.48 fipfy (D) 19.55 fidy
(E) organa ued

115 Malleability is
(A) the property of permanently extending in all directions without rupture by hammering,
rolling etc
(B) the property of a metal which permits no permanent distortion before breaking
(C) the ability to resist the effect of tensile forces without rupture
(D) the property of a metal to withstand shock or impact
(E) Question not attempted
ammTaasEar @ ¥ 7
(A) AT a1 Al gam fqar 22 91 feamen & @ & § Ha &1 o
(B) =g @1 9% o1 forEq o1g ¥ 229 ¥ Ued &5 @l fapta TE Erwd
(C) T2 &1 a9 sl & U9 HI ST BT Bl GHAT
(D) e g &1 Wb AT THIE DB HAT BT O

(E) egara usd

116 Which of the following methods can not be considered for surface hardening?
(A) Case Hardening (B) Induction Hardening
(C) Nitriding (D) Annealing

(E) Question not attempted

TaE g&d H{T & g Frefeiag § o fea fafr o3 feam @ fear = g@ar 27

(A) && FTEMT (B) s sk
(C) wmgzmERET (D) wifei
(E) erafa wed

117 The function of Ratchet stop in micrometer is
(A) To rotate the screw (B) To lock the screw
(C) To put pressure on the screw (D) All of these
(E) Question not attempted
TEHMRT § T WU H FY §
(A) @ & gAFI (B) @ @I @i BT
(C) T WX &9/ & (D) ¥ &
(E) ofgana ued
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118 During filing, the metal chips will clog between the teeth of files is known as
(A) pasting (B) pinning
(C) disjoining (D) welding
(E) Question not attempted
EIERT & S, BIE & 219 & 99 Y 91g & IHS! B FAT Hel Sl § 7

(A) ufE (B) fufsr
(C) fewigf (D) AT
(E) ergara wed

119 Following are the activities given as a house-keeping practice to keep working environment
better.

Which one of pair is not correct?

(A) Cleaning of Machines - To reduce accidents, keep machines well cleaned

(B) Disposal of Scrap - Empty scrap, wastage, swarf from respective containers regularly
(C) Piling Methods - Do not overload platform. floor and keep material at safe height.
(D) Tools Storage - Store tools in big cup-boards

(E) Question not attempted

HHHIS JIEIE Bl dea¥ S0 @ & [0 SCEdINT e & & § Frefaiag nfafafat & 18 ¥
T ¥ BT el qe T E 7

(A) Wl & B — gHSATSH B FH HIA &b (¢ TN Bl TR e E W@ |

(B) & @ fwem — frafia &0 § gafud wead & ©hy, oiime, @rh @l &l

(C) wrzfemm & Tk — <iewd, Bl WX it W S T HE ST WA dl gRIAd S UK @ |
(D) To0 WA — T BT 9% B9 § ©IX B

(E) orania ued

120 The main purpose of normalizing is
(A) to increase ductility (B) to increase the internal stresses
(C) to produce fine grain size (D) none of these

(E) Question not attempted

AT & JeT Sgaed 1 § 7

(A) TIaT TG (B) fiaie gided oM
(C) =&MW SR &1 I = BT (D) =78 & ®ig TEf
(E) organa ued
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SPACE FOR ROUGH WORK |/ 1% &/ % forg &

I TAE A @ FlAaT & — g g ST fah qf, wden wat w aden w6 gy & i@ gdeanedt s
77% F 3 Taal faw FoAea, ghereli @d G i #@ s & # ) e arr I ww
BT T AT FT 97 G T FY, [GAq FA FOGA GA T FE AZT T G F AAGA GIF AT BT
gfiensfi & @A | gherdft BT afy F www wg F AN
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